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v Disc F(s) = p(s) t*(s)(F(s) + F (s))
= tT(s) dt -
F(s)=3/t_(s) Fs)(l_zS)F(t)

v t(s) is the mm scattering amplitude

Danilkin I.V. (JLab)
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v elastic unitarity

v F(s) = Q(s) g(s)
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no assumption about d(s — o0)
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of inelastic contributions e

Correct asym. behavior F'(s — 0o) — 0 imposed by a;



It took us some time to find it...

(s)(G(s) + Zaz—wi) need to neglect 1.h. cuts
: in Disc G(s)
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+ 3" a;w" - problems with a cut-off

- an additional integral [homogeneous part]

7 F(3) = Qei(8) Ger(s) + > aw’

1 & F(s) =Qe(s) (Ge(s) + Z a;w)



